ballets a 55.000 1,155.000’~
(21 a 857’30) TS 18.003’ 30
l recargo a palcos 90.712°72

1,263.716°02

BO-T=ACA S

Por reparto 158
R 40% 18
1878 - 1220072 == 15181256

P AT C 000

PALCOS PLATEA Y PISQ 22 625472 8.814’20

PALCOS PISO PRIMERO 9’066 12.205°10

PALCOS PISO TERCERO 1°9935 2.683’80

BANERAS 1-2-3-4 27014 2.711°40

BANERAS 5-6 1°51 2.032’83

Ll

1’0072 1.356

PROSCENIO PLETEA 11’ 20%0 15.082’10

PROSCENIOS PISO PRIMERO 5.6706 18.404’10

525’5944 1.155 751253
523’5944 18 .424°69
476’4056 15,109 248’46
47674056 18 2 979250

15% a palcos 00.712°72

712’70

turno -




